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Exam Shift: | 2
Langauge: |Gujarati
Topic: Physics-Section A
Iltem No: 1
Question ID: 15477154521
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 4
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Topic: Physics-Section A
Item No: 5
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Topic: Physics-Section A
Item No: 8
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Topic: Physics-Section A
Item No: 9
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Topic: Physics-Section A
Iltem No: 10
Question ID: 154771545210
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 11
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Topic: Physics-Section A
ltem No: 12
Question ID: 154771545212
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 13
Question ID: 154771545213
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 14

Question ID: 154771545214
Question Type: | MCQ
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Topic: Physics-Section A
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Question Type: | MCQ
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Topic: Physics-Section A

Item No: 16
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Topic: Physics-Section A
Iltem No: 17
Question ID: 154771545217
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 18
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Topic: Physics-Section A
Item No: 19
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Topic: Physics-Section A
Iltem No: 20
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Topic: Physics-Section B

Iltem No: 21
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Topic: Physics-Section B

Item No: 22
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Topic: Physics-Section B
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Topic: Physics-Section B

Iltem No: 25
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Topic: Physics-Section B
Item No: 26
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Topic: Physics-Section B
Item No: 27
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Topic: Physics-Section B
Item No: 28
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Topic: Physics-Section B
Item No: 29
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Topic: Physics-Section B

Iltem No: 30
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Topic: Chemistry-Section A

Iltem No: 31
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Topic: Chemistry-Section A

Item No: 32
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Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 33
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Question Type: | MCQ
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Topic: Chemistry-Section A
Iltem No: 34
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Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 35
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Topic: Chemistry-Section A

Item No: 36
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Topic: Chemistry-Section A

Item No: 37
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Topic: Chemistry-Section A

Item No: 38
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Topic: Chemistry-Section A

Item No:
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Topic: Chemistry-Section A

Item No: 40
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Topic: Chemistry-Section A
Item No: 41
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Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 42

Question ID: 154771545242

Question Type: | MCQ
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Topic: Chemistry-Section A
Iltem No: 43

Question ID: 154771545243
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Topic: Chemistry-Section A
Item No: 44
Question ID: 154771545244
Question Type: | MCQ
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Item No: 45
Question ID: 154771545245
Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 46
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Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 47
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Topic: Chemistry-Section A

Item No: 48

Question ID: 154771545248

Question Type: | MCQ

o120 & [aylell 106 B : Vsl s8lad A d2lE deid 539 B v ofloal SRR
dS qoeid 534 8.

58lel A - UldUll 2d2edl 51821218l 2 212Nl 51321115l 8.

Question:
51281 R : UldARdsil 518212016141 D1oun us{] sius{l Ve uz (Rlas) Bds
Yldof 22 duUlR (UdRdl 2dIMl) s2dAHi 2419 B, % (=05 a3 gd 8.
GuRlsd [Aisflell AeelHi {12 2410a (dsailyigl A RIl oscied s 530,

A: ool A 2ol R AU B 2ol R W A of 4124 w¥lsa B,

B: 6ol A sl R UIUL D v4el R 3 A of 4122 2¥] 520 o2l

C: AU D RGRUIE D,

D: AW DURGR AR D,

Topic: Chemistry-Section A

Item No: 49

Question ID: 154771545249

Question Type: | MCQ

Question:

of|2 v4 104l 2judell U5l el A 4ol Betl =) 2Dl

HCN A
H30™
g5l |

(1) NaBH4
() HI'P

90N ® >

Topic:

Chemistry-Section A

Item No:

50




Question ID: 154771545250
Question Type: | MCQ
OH
@/\”/ (1) I/ NaHCO:
@ ’

Question: 0 RSl 4

GU S UlsaH Yu oflyor 56 691 2
A: OQZD

-
B: G[\ CO,H
I

D: @zo
Topic: Chemistry-Section B
Item No: 51
Question ID: 154771545251

Question Type:

Numeric Answer

2L 0.2M H,S0, <l 2L 0.1M NaOH gl<l 418 U541 5L, ¢RI teidl

Question:
Uil «{lues Na,so el Hlalél Mlalar 8. (1251l yuls)
Topic: Chemistry-Section B
Item No: 52
Question ID: 154771545252

Question Type:

Numeric Answer

Hld M fec A2UH1 (2515221 WA B 24 5INoAl 412 4.0 « 1078 em . dl Hids]

Question: yHdluen (atomic mass) g/mol 8. (1% 571l LLQLTB)
410 8 : N, =6.02 x 102 mol™L, did M =il teldl =9.03g em™)

Topic: Chemistry-Section B

Item No: 53

Question ID: 154771545253

Question Type:

Numeric Answer




of| el Sloget UMM el Giosd v15 Sas2letell d2al dedle 3.3 « 10719
m &1 dl, ued] o4 [Hatd HarelHi sa 52l 95 20N Gorledl Auimlui

Question: W 1gHie] 2sal HI2 03] ety God LI 8. (1% 5l Yrulsui)
AU 8 : h=6.626 x 1074 Ts. 88521l £01=0.1 x 107! kg]

Topic: Chemistry-Section B

ltem No: 54

Question ID: 154771545254

Question Type:

Numeric Answer

G yeldl A ¥ B o ARY [HB8L, 0.8 atm <1l 56 €18l w162l udIEl glail
U8 Adeetl 8. uslel Aoil wivggel i H1d 2{21 (mole fraction) 0.5 Blal

Question: ; ;
udlel waeMio2 8. dl s udlel Aof siveial
atm 9. (s1%) 5511 Y15 Hi)

Topic: Chemistry-Section B

Item No: 55

Question ID: 154771545255

Question Type:

Numeric Answer

600K 2 2 HlE NO =l 1 Hl4 0, 18 (M8l s i w1l

INO(g) + 05 (g) == 2NO4(g)

Question:
GUR Ucll U1 1 atm <1l 59 £ 18] Acielet MM w1l ULl Year sl
£21[d B % Adaa 0.6 Hld il [5u%et S12 B. dl Ulsulell Add HuAis
8. (1951l yails)
Topic: Chemistry-Section B
Iltem No: 56
Question ID: 154771545256

Question Type:

Numeric Answer

Question:

0.125g 5l0l[e15 UaAoselatl B15 oAsile] SYHL Ueg[d oS Yoo 528l sedi UK Adl
22.78 mL “l1821%=1 41y A 280 K 2=l 759 mm Hg U2 KOH <1l gld l GUz [l
524 M I, M4 510 (45 AAlr=Aui A5 2loreted] 251a13] ]
(1) 511 Yuls)

wUe & -

(a) 280 K U U1L({ls] &1 31£04181= 14.2 mm Heg.
(b) R=0.082 L atm K~! mol™!




Topic:

Chemistry-Section B

Item No:

57

Question ID:

154771545257

Question Type:

Numeric Answer

yoon 2] (545214 5[ Bl 3 K10, U2 Ulsul e2(Haled, SI5S1%et U SUIBS]

Question: 2L [s4321e1 4 0, o] GA%et UlA V. K10, HiTell 21 (51320t sHisHl adl 2s12
3]

Topic: Chemistry-Section B

Iltem No: 58

Question ID: 154771545258

Question Type:

Numeric Answer

As UlsULHER, nK [2ddeg % ol 2180 «{[2 2 104] B, ulsauis] =(sus0l
Glrd cal mol™! (s1%9 511 YuI[s)

(MUY 8 :R=2cal K™! mol™)

Question: Ink
10
—t
0o 2 3 4 5
Tl. K"H—>
Topic: Chemistry-Section B
Item No: 59
Question ID: 154771545259
Question Type: | Numeric Answer




{1061 Tsl, goseld vi(aeine HHd ] 118 HHdld o Sld ddl dsle] Hull

8.
(a) (b)
Ingi |‘-":'~i
Question:
(el log P —— ) P
Iw_zi Iugi
in m
P — log P —
Topic: Chemistry-Section B
Item No: 60
Question ID: 154771545260
Question Type: | Numeric Answer
oA|0ell Us, 24azell [Qua] v 2]
ids Gosd (1)
Question: 56 (V)
Gl (q)
W2 ] (1)
Topic: Mathematics-Section A
Item No: 61

Question ID: 154771545261

Question Type: | MCQ

t{L?ﬁl%S=[xe[—5, | 0 :|x+3|—123} Vs

Question: x| —2

T={x€Z:x? 7 x| +9 <o} .l SNT Hi Al vl 8.

A: 7

B: 5




C: 4

D:

Topic: Mathematics-Section A
Item No: 62

Question ID: 154771545262
Question Type: | MCQ

4030 pA UHSW 2B Yoo Alodlr D uAd S+t ;—2+1 )

Question: 15200 2 + ax + b= 0 eti ufloy . dl urdl 52
X¥—(a+b—2)x+(a+b+2)=0s¢lioily B.

A: dlrcd(as o €l Ad] vl

B: SR CERTE AR Rt

C: SR ICERTERAR T

D: cAlcl(d5 et dMicll W12 A5 % Y

Topic: Mathematics-Section A

Item No: 63

Question ID: 154771545263

Question Type: | MCQ

Question:

H121 3 A 24l B ¥ 516 A wief 53 UM ddl (DM 3 < 3 2215 B, (|2t

051 & 21 el 2
A: At-B*Md Alas 9.
B: AB-BAdMHd A5 8.
C: BI—A% [q[Hd Alas B,
D: AB+BA [RiMd A5 8.
Topic: Mathematics-Section A
Item No: 64
Question ID: 154771545264
Question Type: | MCQ

RS f(x)=ad +br +c WG B3 el F(1)=3. A~ 2) =7 WA

Question:
f3)=4.%l f(O)+fQ)+f(-2)+f(3) =14 84, dl =
A: —4
B: E
C: -2"3




D:

Topic: Mathematics-Section A
Item No: 65
Question ID: 154771545265
Question Type: | MCQ

Flo= fim 22 (270) — <7 sin (x=1) 3 U2y ad [@AY FRHRY
Question: n—oo 14 x2ntl_yln

Hi 35 x HIe Udd 8.

A: R-{-1}
B: R—§{1,1}
C: R-{1}
D: R - {0}
Topic: Mathematics-Section A
Item No: 66
Question ID: 154771545266
Question Type: | MCQ

Question: (A8 fx)=xe*(1-%) y ez, W

A _E=]]1-|.i.qt{d, 8.

B: éz]ni tHed 9.

C: _1z_§]uicmd 8.

D: —i;é]uiuagj, 2

Topic: Mathematics-Section A

Item No: 67

Question ID: 154771545267

Question Type: | MCQ

Question: widd [0, aHi (A8 f(x) = tan™! (sin x — cos x)eil (2081 HedH dal (<108
' ol [FUdledl 4101 8.

A: 0

B:

tan~! [_

7




C: cos™! 2 [
J3) 4
5. T
| 12
Topic: Mathematics-Section A
Iltem No: 68
Question ID: 154771545268
Question Type: | MCQ
T
t“.a% x(t) = }..!E COST ~/sin 21 ll-l.‘ﬂ ]'l:f}=2£ sin ¢ +fsin 2r, IE(D,%) : fn. I':E
Question: 1+ ‘i"]d'
B E =
AP
ax?
A: —242
3
2
B: =
3
C: !
3
D: =
3
Topic: Mathematics-Section A
Item No: 69
Question ID: 154771545269
Question Type: | MCQ
x 1
Question: Yl % "{n (I) = _[3 4 W dt,n= 1’2*3!"'. dl
(r +3 )
A: S0F, 91 =xI}
B: 501, —111, = xI.
C: 5040, -91, =1
D: 500, 117 =1
Topic: Mathematics-Section A
Iltem No: 70
Question ID: 154771545270
Question Type: | MCQ




Sussiion A4Sl y=log, (x+e?). x—log, [;] WA x = log,2 93 82124 d2yl il y = 1+{l GU2
ds »119€ U2l 8501 8.

A 2+e—log2

B: 1+e—log.2

C: c—log.2

D: 1+1log.2

Topic: Mathematics-Section A

Item No: 71

Question ID: 154771545271

Question Type: | MCQ

]
HIRL 3y =y W [dse w5 2 +,LJ,-:[E ’5: r>1 <l [odg, [ﬂ Hiell
Question: ' dc x*=1" (x+1 3
YR UL G395 D. dl 7 s = .
A 11 + 6 log,3
B: 19
C: 12 -2 log.3
D: 19 — 6 log.3
Topic: Mathematics-Section A
Item No: 72
Question ID: 154771545272
Question Type: | MCQ
Question: [eigdl (0, 2) M (0. —2) Higll YR Adl aduilsl 2ileds] [ase uls0l
' 8.

A: hy@-l—(xl—yz-l—ﬁl):ﬂ

dx

dy 5
B: 2y =+ (x*+32—4)=0

S (x4 3e=4)

C: zxy@—l—[}?l—xz—l—ﬁl}zﬂ

dx
D: 2xy%—{x1—y3+4}:a
Topic: Mathematics-Section A
Item No: 73
Question ID: 154771545273
Question Type: | MCQ




Question: HI21 3 ddel 2 + y2 - 4x + 3 = 0 o1l A [eigull A 21 B 2112101611 242[5]
uestion: : 1
Gafoig, 0 (0, 0) AN HA B, dl (5181 0AB-] A450 8.

A: ?’_‘E

2
B: ELE

4
c. 3
D: 3
Topic: Mathematics-Section A
Iltem No: 74
Question ID: 154771545274
Question Type: | MCQ

HI2 3 wldddy g - __»b__zx ﬂ[ﬁig,( 5 - oE) Ml U R U B, s
Y246y d) £12d 4 2419 8, Bedl o1L[¢ 2 del x-218 U18sd] Hedl «1l(¢ A

Question: HH LA B 24l Yraedof] [AUL[F 51 2 Hell 242 A L{eniel] UnR 2l 8. o)
Ydeei| Al [Mdodef] doqle 2 Hell ofl[Heedel] ¢ 0] €121, 2 ¢ 2 Hoil
Gerdl 9,

A: (2@; 3&)

B: ( 3. =642 )

C: (Ji JE)

D: (3J_ 6. 62 )

Topic: Mathematics-Section A

Item No: 75

Question ID: 154771545275

Question Type: | MCQ
A3 TR 22220 ) 24260y HIB_ 2428 yqely @ A p A

Question: il ol %wz»na UMl ¥Hde B, dl «{l2-1i [qu,m U5l 59 P uR 21199 ofeil

A (0- =7, 29)

B: (-5.0,-1)

C: (3.-1,0)

D: (0. 4. 5)




Topic:

Mathematics-Section A

Item No: 76
Question ID: 154771545276
Question Type: | MCQ

VS5 UHAG P A -2, 1, -3 el -1, 2. -2 €15l 1o] & Il HHidR B,
dald (g 2,2, 2) 4219 B. 4Rl S pUuMLela [eigel A. B, cHia.B.y

Question: u{duds oletldled B2 8. ol Uddses OABCH tets0 Vv €l ol 0 G oy, 8.
Wel p=a+p+yEldl sHYS %S (V.p)

A: (48.-13)

B: (24.-13)

C: (48. 11)

D: (24, -5)

Topic: Mathematics-Section A

Iltem No: 77

Question ID: 154771545277

Question Type: | MCQ

Y13l % S ¥ WAl dHIH a € Zell AL B, Betl I U[eRll 5 = a(log, b)i —6j+3k

Question: e i =(log, b)i +2]+2a(log, b)k,(b>1), 4=l WOl 445101 B, dl s =
A: —0a, — _]
B: @
C: —i D]

3
D: E,:ﬂ)

7
Topic: Mathematics-Section A
Item No: 78
Question ID: 154771545278
Question Type: | MCQ

5 A (el (1l 2 (A5181 0AB ol 2151H1 B, 2L AB = 16 2s5H. [oig,

Question: o ulA w5 Glell Livdl op W usi3 wsd i 24 83 %Yl pao=,PBO=15"
el £PCO=45". %l € ¥ AB He[uig B. dl (0P)? =
A: 5% (-»E’—I)

&




W3

16
C: - (wﬁ— 1)

W3

16
D: - (2— -\5)

W3
Topic: Mathematics-Section A
Item No: 79
Question ID: 154771545279
Question Type: | MCQ

4125 A 2ia B 2 & o] deeila]]l B 5 Bell P(B|A)=% . P4 |B}=% ue]
1

P(ANB) =-g :
Question: (SI} P(A'UB) zg
|
S2)P(A VR )=—
(52) P(A'UB) =
22|14 4, dl
A: (S1) el (52) Yo UL D.
B: (S1) Wl (52) Wil vlel 8.
C: S5 (S U 9.
D: §5c (S2) Uy 8.
Topic: Mathematics-Section A
Item No: 80
Question ID: 154771545280
Question Type: | MCQ




Y2l 5
p 221 Ho{ld died 9.

q : 2H2L Al M=l vl B,

Question: | . 3[@QaR .
s: 24412 9,
dl [auled "2021 &3 o Ho{ld »ieA B o3 d dedl MU 814 & w1 2[addR
weq| 292 Sl 4 d2% cotldl 2usia.
A: ((~q)a(rvs)=p
B: (qAa(rvs))=p
C: p=(qA(rvs))
D: p=((~q)A(rvs))
Topic: Mathematics-Section B
Item No: 81
Question ID: 154771545281

Question Type:

Numeric Answer

4
qil 5 {\Tlr+ﬁrj (1-3px)? el (I—E_r\f.ﬁ?ﬂ“‘li HelH Uel «lf Heaulsl
6 v 2

Question: o5 UM Aeletl ueH ARl Yel wiel 8. 2l w1 UHIdR ARlell A1
2d
dsldd d Sl dl 50_;3_2 =
Topic: Mathematics-Section B
Iltem No: 82
Question ID: 154771545282

Question Type:

Numeric Answer

W5 AU b L5V Wl g 1531201 B. 21 d2(uiell 3 G152 v4a 2

Question: 2
91521l wrie sedlefl 2l 168 €1, dl b+ 3g =
Topic: Mathematics-Section B
Item No: 83
Question ID: 154771545283

Question Type:

Numeric Answer




q1A % Guagy 227 yzel] [eigadl pws Q w9l 2iRls), (Glg
2 4

Question: R (V2. 242-2)HI HA B, %] 512l Ut lo1248] Us{] Guaae] «i1[¢ s Sl dl
SP?+8Q7=

Topic: Mathematics-Section B

Item No: 84

Question ID: 154771545284

Question Type:

Numeric Answer

B 142 B0+ P0+ ., AP0 U0+ 0. 0GR 22 om

Question: .
AR Ul mWYM B, dln+m=
Topic: Mathematics-Section B
Item No: 85
Question ID: 154771545285

Question Type:

Numeric Answer

[dg, (2. 0) wredl wRaEd 237 = Y2 & 22ls 3L 7, 244 1, €A 41 B,

Question: ol il 1, A 1, W ddo (x - 5)% +32 = ol uslL els SlU. dl 177
Topic: Mathematics-Section B

Item No: 86

Question ID: 154771545286

Question Type:

Numeric Answer

o) 6 , 10 20 40 +1624ﬂ: 2. m . Wm YU . dlm-n=

+—=+—=—=+—=+..
Question: gtd gl gl 99 3
Topic: Mathematics-Section B
Item No: 87
Question ID: 154771545287
Question Type: | Numeric Answer
YA §=[-m 5)- [— B L 8B E]. dl ol
2 2 4 4
tion: ' : -

Question ‘ A={0e5:1an0(1+5 tan(20)) = V5 - tan(26)} ui el vl

8.

Topic:

Mathematics-Section B




Iltem No:

88

Question ID:

154771545288

Question Type:

Numeric Answer

Rl B z=a+ib, b£0¥ 2 _z 57 o UHIHle 5cll A5 AvARA B, d)

Question: ]
=+ U ddln el AoAdH Y@ 8,
Topic: Mathematics-Section B
Item No: 89
Question ID: 154771545289

Question Type:

Numeric Answer

W5 A4 4 U vial 6 51011 £5101) 41946 Q. Ae{luiell 41l £510) ALlEes

Question: 21d A4 2118 8. "12] 3 A9 1] 24199 £ SIvIHI ubs 51l Hual X . 2
Xol (AU 52 €I, dl 1000° = .

Topic: Mathematics-Section B

Item No: a0

Question ID: 154771545290

Question Type:

Numeric Answer

Question:

i
IGG sin {ﬁr
4 sin x




